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The average of the first and fourth terms of a G.P is 140. Given that the first term is 64, find the common
ratio. (3 Marks)

A sequence is formed by adding corresponding terms of an AP and GP. The first,
second and third terms of the sequence formed are 14. 34 and 78 respectively.

(a) (Given that the common ratio of the GGP1s 3;

(1) Find the first term of the AP and GP and the common difference of the
AP. (2marks)

(11) Find the sixth term and the sum of the first six terms of the sequence.
(3marks)
(b) The second and third terms of a geometric progression are 24 and 12(x + 1)
respectively.
Find the whole number value of x and hence the first term given the sum of the first
three terms of the progressionis 76. (Smarks)

A) an arithmetic progression is such that the first term is -5, the last is 135 and the sum of progression is
975.

Calculate

I) the number of terms in the series (7mks)

I1) the common difference of the progression (2mks)

B) the sum of the first three terms of a geometric progression is 27 and the first term is 36. Determine
the common ratio and the value of the fourth term (4mks)

The 5th and 10th terms of an arithmetic progression are 18 and -2 respectively.

(a) Find the common difference and the first term.

(b) Determine the least number of terms which must be added together so that the sum of the progression
is negative. Hence find the sum.

The first three consecutive terms of a geometrical progression are 3, x and 5 1/3. Find the value of x. ( 2
marks)

The first, fifth and seventh terms of an Arithmetic Progression (AP) correspond to the first three
consecutive terms of a decreasing Geometric Progression (G.P).

The first term of each progression is 64, the common difference of the AP is d and the common ratio of
the G.P isr.

(@) (i) Write two equations involving d and r.

(i) Find the values of d and r.

(b) Find the sum of the first 10 terms of:

(i) The Arithmetic Progression (A.P);

(if) The Geometric Progression (G.P).



MARKING SCHEME

Ti=a Tsg=ar
64+ 64r? ~yun M1
64 + 6413 = 280 M
P’ =3.375 Al
r=1.35
03

18.A sequence 1s formed by adding corresponding terms of an AP and GP. The
first, second and third terms of the sequence formed are 14, 34 and 78

respectively,

(n) Given that the common ratio of the GP is 3:

(1) Find the first term of the AP and GP and thecommon difference of the
AP. =68 (Zmarks)
2d 2a +1q/6jx =L -
Ap: a a+d Q;z " a +2d+aqx =18 a4 x =%
Ge x Jx  qx = 3% =8 a+6 =11
a+ X = ra=8
a.'.x = “+ " = - 2M M )
2 (a+d+3x =324) — 4 =4 —
G+2d +9X = 13 Xj_@
(11)  Find the sixth term and the sum of the first six terms of the sequence.
. 18 —_ o + 243 o (3marks)
T .- a-’-SC‘"“&vL = 8+5 —_—
¢~ = 1406 L+ 3478 L4
=—5F —+ 526t (&1
a+ol+3x=34 T - Q+ud T35 ~ 2352
g +al + (834 = @ +4(8)+Sl —=
ol:ﬁq'—u = 26 ( :)' '
ol=_% == .5 </
o =2 1KG = Q4
47 +3(8)+2 =




. T e SN L —
(b) The second and third terms of a geometric progression are 24 and 12(x + 1)
respectively. :

Find the whole number value of x and hence the first term given the sum of the first
three terms of the progression is 76, (Briiikal
ar?= [2(x+1) U8 + 24X b2 1K 26 41) =76 X HT6
; v 9 _ é/ = 7(_3 =0
= é(x +) = __,12"* 1_1+147(+/_b<‘+1+7<+'_1 TeXk=12
< ,sz' 28X -f-j‘ = O / g
ar = *4 e ¥ a
—-. O
cx' (’2£;£;j>:: 14 dg)(zﬂ— X -+ ;Lz.-(j
3x— 6K~ 1
= 3-4"‘1'=’—48 A -=3) =0
Cor 9x(x~2) 1()x )
X=1) =9
x—-2)G
48 4 24 + (x+|)=16)&“) e(x=1> o %=V,

—
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(a)(i)nthterm=a+(n-1)d
Lastterm =-5+(n-1)d=135 M1
(n-1)d=140
Sum of n terms = 7/>(2a+(n-d)d) M1
1/2(-10+140)=979 M1
n/2(130)=979
130n=2x979
n=2x979

130 Al
n=15

M1
(i)at
A+(n-1)d=Tn Al
-5+14d=135
14d=140
d=10
(b)s=27,a=306
S=atar+ar’
27=36+36r+361 M1
3=4+4r+4r?
(2r+1)(2r+1)=0
r=-% Al
10




@ | a+ 4d= 18 (i)}

B1

a+9d = -2 (ii)
5d = -20 Mi
d = -4 Al
a = 34 Bl
®) §{2x34+(n—l)(—4)}=0 MI
n
—{72—4n} =
S 172—4n}=0 M1
4n = 72
n =18 Al
least number of terms =19 B1
19
S = ?{2x34+18(—4)} Mi
19
=—(68-172
R )
19
=—(-4
5 A%
=-38 Al
5 ./, = "/), Bl I‘/h . ‘/3
x? = 48 Al | xX' =xXx
x*=16 x= |l6
x=4




(a) (i) 64 + 4d = 64r
64 + 6d = 64r>

(i1) From (1)
d=l6r—16
641" = 64 +6(16r — 16)
64r°= 64 +96r — 96

2 —3r+1=0
Cr—-1}r—1)=0
r=%orr=1

For decreasing GP, r =12

Substituting r = % in (1)
64 x )2 =64+ 4d
d=-8

(b) (i) A.P
8is =§{zx64+9x—8 }=280

(i) G.P
15 ) 4 004)
- = =127.875
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2 2




